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1. a (10 points) ~ Replace the three applied forces and the moment with a
single force and a single moment acting at point B.

b. (10 points)  Determine the pomt of intersection of the force replacing
the three applied forces and the moment with axis FG.
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2, (20 points) Determine the reactions at A and C.
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3. (25 points) Replace the forces shown with a single force and a single moment
acting at the origin.
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4. (35 points)
cable BG.
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A and D are Ball-and-

socket joints. Determine the tension in the
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